5.6 x4 =
4x3=
3
Write 1230 in Roman
Numerals =
14.78 + 85.8 =

Convert 0.5 to a percentage =

364=___ +153
Round 163 to the nearest 10

1468 x 33 =
84 +10 =
Find 15% of 900 =

56x6=
7xz=
3
Write 1784 in Roman
Numerals =
144.86 + 154.7 =

Convert 0.41 to a percentage

755=__ +135
Round 1748 to the nearest 10

2543 x 33 =
84 + 1000 =
Find 45% of 900 =

5.6x7=
9xz=
3
Write 2429 in Roman
Numerals =
165.64 + 3234.24 =

Convert 0.06 to a percentage

1354=___ +753

Round 86408 to the nearest
10 =

4432 x 33 =
8.4 =100 =
Find 81% of 900 =



56x4=22.4

2 8 _ 2
Ax-=-=2-
3 3 3

Write 1230 in Roman
Numerals = MCCXXX

14.78 + 85.8 = 100.58

Convert 0.5 to a percentage =
50%

364 =211+ 153

Round 163 to the nearest 10
=160

1468 x 33 = 48444
84+10=8.4
Find 15% of 900 = 135

56x6=33.6

2 14 2
Ix==—=4<
3 3 3

Write 1784 in Roman
Numerals = MDCCLXXXIV

144.86 + 154.7 = 299.56

Convert 0.41 to a percentage
=41%

755 =620+ 135

Round 1748 to the nearest 10
=1750

2543 x 33 = 83919
384 + 1000 = 0.084
Find 45% of 900 = 405

5.6 x7=39.2

2 18
Ox-=—=6
3 3

Write 2429 in Roman
Numerals = MMCDXXIX

165.64 + 3234.24 = 3399.88
Convert 0.06 to a percentage
= 6%

1354 =601 + 753

Round 86408 to the nearest
10 = 86410

4432 x 33 = 146256
3.4 +100=0.084
Find 81% of 900 = 729



